Calculus BC – Chapter 10 - Even Answers (F.T.D.W.)
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Section 10.1
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36. a, b, c are equal


Same Reference Rectangle and asymptotes. Different transverse axes (curves open up in different directions).


38. Variable Separable Method:


� EMBED Equation.DSMT4  ��� so…


� EMBED Equation.DSMT4  ���,C = 0


y = (w/2H)x2 q.e.d.





40. e = c/a = ¼


So let c = 1, a = 4, then a2 = b2 + c2 gives b2 = 15, so:


graph: � EMBED Equation.DSMT4  ���


�


42. See pp.499-502
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Ellipse Area = � EMBED Equation.DSMT4  ���


A1/2 = � EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ���
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C.M. = � EMBED Equation.DSMT4  ���
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46. Since rA & rB have the same derivative, they differ by a constant with A & B being foci, hyperbola!


48. Asymptote of a hyperbola


50. See p.769


52. See p.773
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